@)

5: Semester

" Roll No

S No of Question Paper 16717
Umque ‘Paper Code

Name of the Paper

' N?me of the Course

(6)

©

All questlons are compulsory

Thls ‘question paper contains '8 prmted pages]

B 33N . - e
Statistical Computing using C/C++.
R Programmmg
: ,B.Sc (H) Statistics

v

Maxlmum Marks 7€

ipt of this question pupel )

Attempt any ten parts :

Contro|
The defayl¢ Case is Tequired i, the Switch
statement o ' -

The returp type of a funcnon is mu by deﬁuh



@)

(i)

()

)
(vi)

. . 'On
('_"7) A Program start execution from..........- funct!
. (b ' ' i
®) Thess,. . statement when executed in 2 3
© statement causes nmmedlate exit ﬁom
Structure, \J
i b
Vel Theyy, ;..Speclf'catlon is used to read €
short integer., g
- " . es
( i’
d) The............operator returns the number
the operang -occupies. . g
iy eaté |
(e) .. The keyword.. . can be used 0 1
~ data type identifi ler. 7
1] i
F e escape sequence character...-" o O
the cursor to move ‘to the next " ﬂ

: ﬂOat X= “42, Xmin = 4‘7’
) lf (ﬂbS(X) <xmin) 'x = (X>0) 9 xmin : ,.xrniﬂ;

printf{«of» X);

' Con :
sider the program segment to answer dresseg

il : : an|
(e) The underscore can be used anywhere if aﬂk i
identifier,
() An integer can be added to a pointer:

Fill in the blanks :

Screen

wh | %
at- will be the output of the abOVe co difrﬁf

% ctur®
ha IS a stricture 7 How does a S
from an array o

ray ©
Describe rwa dlfferent ways to acceSS an arré

e f0

In this Case, assume that the memO"Y 4
as 100, Y as 300 and u starting from

(vi)

(viii)

(!x)

: 6717
double x=20.5, y=10.5, z; y
‘double *px, *py; |
int W3] = {41, 1013, {2, 22, 222}; (3, 33, 333}
int *v;
px =&X;
py =&y;

~are less than 100. Calculate the sum of those integers

* If the variable divisor is not zero, divide the variable

&

v =&u[1][1];

= (v + 1 w2
(@) Wﬁat is the:value of *px an;.i-z,?
(b) What is the value of *(v-1)* *(y-4) ?

Write a loop that will generate every third integer,
beginning with i = 2 and counting for all integers that '

that are divisible by 3.

‘Write a conditional expression for the following :

dividend- by divisor and'store the result in variable

‘quotient. If the divisor is zero, assign it to the quotient.

Given that int x = 2, y = 3, 2= 2, 1 = - 4; evaluate
the following expressions : .

(@ z-(@x+2)%2+y
(b) x = && (y<2) || x>t
Whatr are
purpose ?

function prototypes in C ? What is their

Hlustrate with 'exémple. |
BTLY,



L oy e
(
. (xi)t Det“ne a self-

- int a=5, b=12, x'= 15, y= 2, z——32765 t—100v.' -

referentlal structure contactmg ! :

- followmg, three members . S _
' \:_ L ﬂoat r, s;

(a) A CL
40 elemem character .array called name

It

=y 2y XY e

®) " An .
"“eger quantity called lost z+ S5

s.=
' _, ‘ (c) A ﬂoatmg point quantlty called percent ’ b +-'—"a;Ak R
( | k Jnclude the tag team w1th|n the . structure definitio™ ’ | . a - b - & e
.;'._‘xl,i) Find . error(s) in the followmg Pl‘Ogram Lo A : . heb-a St R
' _r#mclude<stdno h> .. - ' f-, o o - " printf(“r = %f\n~.s=%f’;, 'r,' ‘S);. T '
4.’ma‘mb(); SR | - . : ptintf(“ _ %a \n .b=%d"1 a,b), |
A - B ) S R ’ L "prmtf(“%d\n” 10 + ++t), :
it 9x - y i | ' ‘~ _— '~ ' - “iretum (0),‘
'. Putchar(\n) / - - @ #IPC|Ude<Stélo'h>.
N p""tf(‘%c’ "‘A”) : | . o ' 51 | int tjunc-l(mta);
. - ’eFum(O); . T ’ ; ;/»‘[.. S | ’int func2(inte);’ :
y o L n I - main()

{

Write th o :
. ‘ ‘ ,pUt. Of any o .. parts ﬁ'om . the fo]low_l"g . .
. oo ‘ ) inta=0,b=1, count;

; x5 10
10}

) #inC|ude<stdi0;h> ] for(count = l;‘. ccuht <=5; 9ount'++)'
inta <7 o A 1 B
‘main() | " . pr=funcl(a) + func2(a);

printf(“%d”, b);

[N
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} \ X = *pl * * p2 _6,
intfunc(inta) . - y = 4% - *p2 / Pl + 10;

: o : printf(*a =%d. .b —0kd\n”, a, D)
: j ~ pinrtf(“x = %d, y = %d\n”, X, y)
intb; L8

"Dl ' p2 = *p2 * 3 2
b=func2(a); | : ;
: ; : _ : ' *pl = *p2 -3

t : : ' : g

re urr! (b)s i . . i = *pl * *pz . 6;
LR : . | : : printf(*a = %d, b = %dwn”, a, b

int'func2(ir!f a) ; : BRI ; draf " printf(“z = %d\n”, Z);

S e . e _ . return (0);

" static int b: : .' £ ‘- \ ‘ Fay : . s . |

S - B 3. _Attempt any wWo parts : .o 2x5=10
: i _ , 6) What is a pointer ? How can it be initialized ? "Also,
return (b+a); : ‘ " g . discuss how initial values. can be assigned to two-
1S b : S vl 1 dimensional arrays with the help of examples.

- (i) #include<stdio.h> . ; (i)  Describe different forms of loop avallable in C. How
s ; would you decide the use of one. of the three loops
TR T in C for a gwen problem ?

{ _ , | (i)  Distinguish between the following with the help of
inta, b *pll 02 A 7 examples :
‘ £l y ! x’ y’ Z; ) . i ’ - .
a = ]'2', (@) Global " and local variables
: ‘1 (b) Actual and formal arguments
b =y TF s : _ q, | LR \
: Attel’npt any [wo parts ! . 4% x 2 =9
pl = &a; ' ‘ , 0 ' _
' Write a C-program to calculate the product of two
pa. = dh; matrices A and B of order m xn and n x p respectively.

PTO.




(i)

(i)

@ - (8)
: rite a C'RFOgram to fit Poisson distribution to the
following data : :
X 0 ] 5 ‘3 4'-. . 5.1
f: 109 65 » - 5o b
@iy ‘ o - : | L
) Write a C Pr0gram to compute the roots of qud all
Attempt any rwo parts : { : '2,‘8;16 _
. o
. (l') ~ In an expenment on |mmun|zano of € attlef
s wer b“““ed

| 'Develop a functio
, for the data give

function, -

an .

tuberculosis, the followmg result

Inoculated
Not inocplated
. e
Write a C-program to test whether vacel”
. as
in controllmg the mmdence of the dise 5%
0
mple
Develop- 2 functlon “to draw’'a’ rando™ sars K aﬂdc
N

et
mma distribution with param w i
nce

He usif'g
lance task

n . from gar

Also fin

m to perform the above ment! iof

ove

d nts mean. and var
e . ’

s
oefﬁ e .

progra
files.

n to calculate co

n on r.v.S X and

develop 2 program

cor(elation coeff cient of




